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{{0,-1},{1,0}}.transpose{{1,2},{3,4}}+inv {{0.2,1.4},{-1.5,2.9}} 8
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1.5597 3.07463
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In [1]: £from numpy import matrix
from numpy import linalg

In [2]: 1%%2 + 2%%2 + 3 ,5%%2

out[2]: 17.25
Jupyter NotebookZ tC&)

In [3): a=([1, 2, 3.5]
sum([ i**2 for i in a])

Out[3]: 17.25
matrix([[0, -1], [1, 0]])

matrix([[1, 2], [3, 41])
matrix([[0.2, 1.4], [-1.5, 2.9]]

In [4]: A
B
C

In [5]: print A * B.T + C.I

[[-0.91791045 -4.52238806]
[ 1.55970149 3.07462687]]
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> 1**2 4+ 2%*%2 4+ 3.5%%2
[1] 17.25
> 1A2 + 2A2 + 3.5A2
[1] 17.25
> a <- c(1, 2, 3.5)
> sum(a**2)
[1] 17.25
> ml <- matrix(c(0,-1,1,0),nrow=2,byrow=TRUE)
> m2 <- matrix(c(1,2,3,4),nrow=2,byrow=TRUE)
> m3 <- matrix(c(0.2,1.4,-1.5,2.9),nrow=2,byrow=TRUE)
> ml %*% t(m2) + solve(m3)
[,1] [,2]
[1,] -0.9179104 -4.522388
[2,] 1.5597015 3.074627

> ml
[,1]1 [,2]
0 -1
[2,] 1 0



